|

4

—

L7

X2 X2 X1 X1 X2
B

/ / wp) (@ (@

M6x12 M6x30 M6x40
X2 X1 X10 X4 X2

(@ >
M6x50
X16 X1 X2

10OF 3




STEP 1:

I
@)
QU D D

D Smm—

— @ 1)

2

20F3




STEP 2:

STEP 3:

STEP 4:

30F3






